Maths: Count back

Activity 1: Use the number line to help you answer these number sentences. We are Activity 2: | have drawn the jumps on the number lines, but my tea spilt over
doing takeaway so that means we need to go backwards. my number sentences and washed them away. Can you work out what the

] number sentences should be based on the number lines.
Remember you always start on the first number and count back the second number

to get your answer.
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Maths: Count back

Activity 3: Work out the answers using the number line for
these sentences. Show the sentences as a number sentences.

| count backwards from 9. How many jumps does it take to get to two?
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| count backwards from 10. How many jumps does it take to get to 6?
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012345678910

| count backwards from 6. How many jumps does it take to get to 27?
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012345678910

| count backwards from 7. How many jumps does it take to get to 4?
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012345678910

Activity 4: Try and place this game with someone you live with. Who will be the
champion? @ If you don’t have a dice, | have include an interactive one.

Online dice: https://www.online-stopwatch.com/chance-games/roll-a-dice/

Game

Race to zerol

Start at 10 on a number line.

Roll a dice and subtract this amount.
The first person to land on O wins.
What would you like to roll? Why?

Why would you not want to roll a 17



https://www.online-stopwatch.com/chance-games/roll-a-dice/

Maths: Count back
Answers:
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Activity 1: Use the number line to help you answer these number sentences. We are

doing takeaway so that means we need to go backwards.

Remember you always start on the first number and count back the second number

to get your answer.
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0123456 7 8910

012345()7 8910

0123456789

Activity 2: | have drawn the jumps on the number lines, but my tea spilt over
my number sentences and washed them away. Can you work out what the
number sentences should be based on the number lines.

0123456

8 910

01234567 8 9(10

Activity 3: Work out the answers using the number line for
these sentences. Show the sentences as a number sentences.

| count backwards from 9. How many jumps does it take to get to two?
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012345(6)7 8910

| count backwards from 7. How many jumps does it take to get to 4?
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